2023 Pell Grant Cost of Attendance

For Institutions that charge by payment period



Course: Cosmetology CIP: 12.0401 PPL: 50 Weeks

	Hours	Hours Per Week	# of Weeks	# of Months
Cosmetology Program	1500	30	50	12
Academic Year Length	900	30	26	7

Fees listed below are for the academic year

Dependent students living @ home with parent

Tuition & Fees	\$9,450	Living Expenses	
Books/Supplies/Equipment	\$2,250	Food Allowance	\$298/mo
Professional Licensure	0	Hous. All. Off-Campus	\$1795/mo
Food Allowance	\$2,086	Hous. All. At Home	\$1203/mo
Housing Allowance	\$8,421	Mis. Personal Expenses	\$63/mo
Mis. Personal Expenses	\$441	Transportation Expenses	
Transportation	\$3,003	On Campus Program	\$429/mo
TOTAL	\$26,651	· · · · · · · · · · · · · · · · · · ·	

Students living off campus

Tuition & Fees	\$9,450
Books/Supplies/Equipment	\$2,250
Professional Licensure	0
Food Allowance	\$2,086
Housing Allowance	\$12,565
Mis. Personal Expenses	\$441
Transportation	\$3,003
TOTAL	\$29,795

# of Weeks in AY for Program	26	_ 1	# of Hours in AY for Program	900	_	1
# of Weeks for Which Costs Apply	26	= 1	# of Hours for Which Costs Apply	900	_	

Dependent Students Living @ Home With Parent

25,651 x 1 = 25,651

Students Living Off-Campus

 $$29,795 \times 1 = $29,795$

Course: Esthetics CIP: 12.0409 PPL: 20 Weeks

	Hours	Hours Per Week	# of Weeks	# of Months
Esthetics Program	600	30	20	5
Academic Year Length	900	30	26	7

Fees listed below are for the academic year

Dependent students living @ home with parent

Tuition & Fees	\$6,300	Living Expenses	
Books/Supplies/Equipment	\$3,000	Food Allowance	\$298/mo
Professional Licensure	0	Hous. All. Off-Campus	\$1795/mo
Food Allowance	\$1,490	Hous. All. At Home	\$1203/mo
Housing Allowance	\$6,015	Mis. Personal Expenses	\$63/mo
Mis. Personal Expenses	\$315	Transportation Expenses	
Transportation	\$2,145	On Campus Program	\$429/mo
TOTAL	\$19,265		

Students living off campus

Tuition & Fees	\$6,300
Books/Supplies/Equipment	\$3,000
Professional Licensure	0
Food Allowance	\$1,490
Housing Allowance	\$8,975
Mis. Personal Expenses	\$315
Transportation	\$2,145
TOTAL	\$22,225

# of Weeks in AY for Program	26	_	1 2	# of Hours in AY for Program	900	_	15
# of Weeks for Which Costs Apply	20	_	1.3	# of Hours for Which Costs Apply	600	_	1.5

Dependent Students Living @ Home With Parent

19,265 x 1.3 = 25,045

Students Living Off-Campus

22,225 x 1.3 = 28,893

Course: Manicuring CIP: 12.0410 PPL: 20 Weeks

	Hours	Hours Per Week	# of Weeks	# of Months
Manicuring Program	600	30	20	5
Academic Year Length	900	30	26	7

Fees listed below are for the academic year

Dependent students living @ home with parent

Tuition & Fees	\$6,300	Living Expenses	
Books/Supplies/Equipment	\$3,000	Food Allowance	\$298/mo
Professional Licensure	0	Hous. All. Off-Campus	\$1795/mo
Food Allowance	\$1,490	Hous. All. At Home	\$1203/mo
Housing Allowance	\$6,015	Mis. Personal Expenses	\$63/mo
Mis. Personal Expenses	\$315	Transportation Expenses	
Transportation	\$2,145	On Campus Program	\$429/mo
TOTAL	\$19,265		

Students living off campus

Tuition & Fees	\$6,300
Books/Supplies/Equipment	\$3,000
Professional Licensure	0
Food Allowance	\$1,490
Housing Allowance	\$8,975
Mis. Personal Expenses	\$315
Transportation	\$2,145
TOTAL	\$22,225

# of Weeks in AY for Program	26	_	1.2	# of Hours in AY for Program	900	_	15
# of Weeks for Which Costs Apply	20	-	1.3	# of Hours for Which Costs Apply	600	_	1.5

Dependent Students Living @ Home With Parent

19,265 x 1.3 = 25,045

Students Living Off-Campus

22,225 x 1.3 = 28,893

Course: Instructor CIP: 12.0413 PPL: 20 Weeks

	Hours	Hours Per Week	# of Weeks	# of Months
Instructor Program	600	30	20	5
Academic Year Length	900	30	26	7

Fees listed below are for the academic year

Dependent students living @ home with parent

Tuition & Fees	\$3,900	Living Expenses	
Books/Supplies/Equipment	\$500	Food Allowance	\$298/mo
Professional Licensure	0	Hous. All. Off-Campus	\$1795/mo
Food Allowance	\$1,490	Hous. All. At Home	\$1203/mo
Housing Allowance	\$6,015	Mis. Personal Expenses	\$63/mo
Mis. Personal Expenses	\$315	Transportation Expenses	
Transportation	\$2,145	On Campus Program	\$429/mo
TOTAL	\$14,365		

Students living off campus

Tuition & Fees	\$3,900
Books/Supplies/Equipment	\$500
Professional Licensure	0
Food Allowance	\$1,490
Housing Allowance	\$8,975
Mis. Personal Expenses	\$315
Transportation	\$2,145
TOTAL	\$17,325

# of Weeks in AY for Program	26	_	1 2	# of Hours in AY for Program	900	_	15
# of Weeks for Which Costs Apply	20	_	1.3	# of Hours for Which Costs Apply	600	_	1.5

Dependent Students Living @ Home With Parent

\$14,365 x 1.3 = \$18,675

Students Living Off-Campus

17,325 x 1.3 = 22,523